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SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
202 o4 | 5,760 1,800 3,960
01 2L I 5,760 1,800 3,960

OEL E2 ZIANE2E SLEN S SN
ul| 60,000& »4H 3 83| 5,760
401 AIEHIZL 2 0HY| 400,000 100,000 300,000
01 Al&H| 400,000 100,000 300,000
SEE 2EEZ2 WER2 HY 2K 2a
00,000, 000& = 14! 300,000
O=dl 28tel 3= &X
100,000, 000& = 14! 100,000

AUSANE A0 T 2(&3-4)M& 1,003,150 802,520 200,630
401 Al HI L 2 0HHI 1,003,150 802,520 200,630
01 A& H| 1,000,000 800,000 200,000

OHUSARA~Q=|02 S 2(&3-4) M4
1,000,000,000& 14! 1,000,000
03 Al& 20 Y| 3,150 2,520 630
QOHUSAMBA~QIZT|C2E T2 (23-4) e Al
A2 0Hdl 1,000,000,0002 x0.63/100%50%< & 2+> 3,150
QA TAHEEZTZ H2-6 WL (=022 P29 =H 1,003,150 501,800 501,350
NEEX)
401 AlEHIZL £ 0HY| 1,003,150 501,800 501,350
01 Al&H| 1,000,000 500,000 500,000
O ZTAIHEEZ2(UH2-6) HE
1,000,000,000& =14l 1,000,000
03 AlE 201 Y| 3,150 1,800 1,350
O2LLA T AIHEEZ2(H2-6) HE AE20THH]
1,000,000, 0002 *0.63/100%50%<& 2> 3,150

olelel TAIHE =2 (Ho-47) & 1,003,150 0 1,003, 150
401 Al HIZL 2 0HY| 1,003, 150 0 1,003, 150
01 Al&H| 1,000,000 0 1,000,000

Q0lele] TAHEEZ (Ho-47) &t Z
1,000,000,000& =14l 1,000,000
03 AlE 201 Y| 3,150 0 3,150
Oolole] TAHE =2 (Ho-47)&2 AlIZ& 20U
1,000,000, 0002 *0.63/100%50%<& 2> 3,150

QA SEM MEIEHYE &X 200,000 0 200,000
401 AlEHIZL 2 0HY| 200,000 0 200,000
01 Al& H| 200,000 0 200,000

O2F ZE M MEIEHYE &X
200,000,000 « 1Al 200,000
Q& WA o AX 2,003,600 0 2,003,600
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SA - BB B () - MM - BES Ol &t o San HmEET
401 Al HIZ 201 Y| 2,003,600 0 2,003,600
01 A& HI 2,000,000 0 2,000,000
O2d WA o1& AX  2,000,000,000& 14 2,000,000
03 A2 S THHI 3,600 0 3,600
O2d ¢ o &X A2
2,000,000, 0002 0.36/100%50%< & 2> 3,600
SANAHEEZ 2,759,200 1,881,800 877,400
< 800,000
Al 1,959,200
=X 24 505,000 605,000 A 100,000
201 LBt2d| 5,000 5,000 0
01 At 22l 5,000 5,000 0
O1. L ==&t 5,000
-AZE0I2EX ARAOA S22
200,000& »25A4 5,000
305 a2 S 100,000 100,000 0
01 thaf=8 100,000 100,000 0
OANZ OI2s8X 2Y0s=2(82ds) ERas
A HHA S 100,000, 000& 100,000
401 AIEHI L 2CHYI 400,000 500,000 A 100,000
01 A& HI 400,000 500,000 2100, 000
OBIAAsE OI2EX 24 400,000,000& 141 400,000
stalzg~olelelz2t S 2 (H3-27) & 1,003,150 1,003, 150 0
< 500,000
Al 503,150
401 Al HI K 201 I 1,003,150 1,003, 150 0
< 500,000
Al 503,150
01 A& Hl 1,000,000 1,000,000 0
Ostalsg-olelel2t &2 (H3-27) N4
1,000,000, 000& 14 1,000,000
< 500,000
Al 500,000
03 AlE 2 THHI 3,150 3,150 0
Ostal=g-0lQel2t S2(U3-27) & AL
CHyl 1,000,000, 000& *0.63/100%50%< & 2> 3,150
HALHECZ(HSOIME~SER2H)MHA 47,000 47,000 0
401 AIEHI L 201 47,000 47,000 0
01 A& Bl 47,000 47,000 0
OBMAHCR(STPH)NE NBHALSE
AN EH 47,000,000& * 14| 47,000
SNs SAAHEZZ(U1-1) && 601,890 0 601,890
< 300,000
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= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 301,890
401 A& HIZ 201 I 601,890 0 601,890
< 300,000
Al 301,890
01 A& HI 600,000 0 600,000
Osks ZAHEZZ(U1-1)EH
600,000,000 =14l 600,000
< 300,000
Al 300,000
03 Al 2 THHI 1,890 0 1,890
OsXs ZAHECZ(U1-1)&8E AIE=20]
600,000,000 *0.63/100%50%<& 2> 1,890
QHE ZAHEZZ(H1-11)H & 301,080 0 301,080
401 Al HIZ 201 Y| 301,080 0 301,080
01 A& Bl 300,000 0 300,000
O SAAHE=Z(U1-11)H4
300,000,000 =14 300,000
03 Al S THHI 1,080 0 1,080
O TAIHEZZ2(H1-11)MHE AIZ=2UYI
300,000,000& *0.72/100%50%<& &> 1,080
Sol TAMEC2(03-13) A 301,080 0 301,080
401 A& HIZ 201 8] 301,080 0 301,080
01 Al gl 300,000 0 300,000
OSth TAHNES2(H3-13)2E
300,000,000 =14l 300,000
03 AIE 2 THHI 1,080 0 1,080
Ol SAIAHECZ(H3-13)&E A2
300,000,000 *0.72/100%50%<& 2> 1,080
SN AN (RELANL/NSL A 4,968,650 3,153,571 1,815,079
< 765,000
Al 4,203,650
SEXH RALE=A 70,962 36,634 34,328
ARANE HHE2I 70,962 36,634 34,328
101 @124l 13,102 12,910 192
04 JI2ZtHZ22HEE = 13,102 12,910 192
Oo&as & SIAHMF EHel 13,102
-Jl23 51,760 x1Z 202 «9& 9,317
k= 51,7603 1 38 1,967
—ANRSF Y 51,7603 x1H 92! 466
-AHEE JI2RE3 11,750,000& *11.5% 1,352
201 Let24d] 29,360 17,244 12,116




ok

ok

<

n0

Kio

Hl w

116

11

1,000

1,980
A 1,980

24,000
24,000

1,780,751

1,437,709

H3r
Wikd
RIS

17,244

6,480
6,480

3,116,937

1,401,957

2,016
2,016

Off &t 24

28,360
23,320

3,000
16,000

1,200
3,000

120
5,040
5,040

1,000
1,000

1,000
4,500
4,500

4,500
24,000
24,000
24,000

4,897,688

H

765,000
4,132,688
2,839,666

Al

2,016

2,016
2,016

|

=

3,000,000

20,000

01 At 22l bl

5

=

& 800

<+
<+
ol

ok

[l
ol

KJ
I

|

e

|

128

=)

120,000

2 kD %
Y12« 122

3,000,000

o
=

50,000
2l x5

NN

238 0l

o
[und

7,000

I

IIRAFEXN =

-ot= = XI& 0l

Ob5.=2&Hl

30
0H
)
H0

O3. Al € ZHI=Xlbl

Rr

Al

)
K
ol

|

=

=

1,000,000

01 =LHOI LI

202 O Hl

KJ
Kr
oF
ol

ok

o}
Kl
&)

3
-
Mo
or

3

4 x5 x3L *5

=

o

60,000

405 &t

el

oll
o
1o

O&ZAM21 0l

24,000,000

w
oY,
el
ar
)

ol

Kk

&0
3]
o]
oll

01 At 22l bl
O5.=2 &l

oM

ol

K-

1,437,709
1,435,000

2,520
2,520

1,397,421
1,395,000

2,016
2,520
2,520
2,520

2,835,130
2,830,000
200,000
230,000

=)

Al
Al
Al
Al

1
1

12 «123
2l x
2l x

o3 7

=}

2| %D

=

2l xD O

200,000,000

230,000,000

7,000&
60,000

OTEXZ =tHeel

01 SLHOYI

401 AIEHIZ 2 I
01 A€ dl

202 o4 4l




EMN: A&,
HE: XEHLANGS(ZELX SN /KA UEZAl)
CHel: FOIBOIAIA A CER-ED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
O gXe 0fsSidg=z LA ZA
100,000,000 =14l 100,000
O XA 0tsotd THIZ A Z A
30,000,000& = 14! 30,000
O 2432 D=ty Ad|Z At
60,000,000 = 14! 60,000
O2A Zdel ME Hd|lZ2 Ak
50,000,000& = 14! 50,000
Osdl =212l DS =2 & ZLEZA
50,000,000& = 14! 50,000
OHI| stH el HM&EEH Z2A
100,000,000 =14l 100,000
OHI| SUcl orsotd B84Z2A1
50,000,000& = 14! 50,000
OHD| AE2e OIS 0tAE TMNRI|ZBA
50,000,000& = 14! 50,000
OHI| AME22 DSt S EZA
100,000,000 =14l 100,000
O30l=2 ZAH2E 2 1A oot 2 EAZ AL
80,000,000 = 14! 80,000
OUiols sdlE~=s21W3 0tsotd HHlIZ2 Al
80,000,000 x 14! 80,000
OEdll 2x2e] HotE =2 A Z A}
80,000,000& = 14! 80,000
OSoll X2 MU EM 2AAY
80,000,000& = 14! 80,000
OEdll =232 22dd HYZZ ZEHEIA
90,000, 000& = 14! 90,000
Odlg 2222 01202 WEE T A
0,000,000 =14l 60,000
Opl & ote2g| DSt LA A}
30,000, 000& = 14! 30,000
OEdll &532 =28 & Mgz SEHBA
200,000,000& * 1Al 200,000
O Hoe DISAYZ S HAX S A
60,000,000& = 14! 60,000
O =412l HMEAEHI S A
100,000, 000& x 14! 100,000
O&ot A2l 0fSolx=T Al ZAt
100,000, 000& = 14! 100,000
O&Eot 2322l DIsSdYZ Dl==K 24
20,000,000& = 14! 20,000
Osct 212l MEAEH S A
50,000,000& = 14! 50,000
OFF JtAtel 022 =& o JUIZA
90,000,000& = 14! 90,000
OFH otz 0tsotd ZEZA
50,000,000& = 14! 50,000




A A&
HE: TARLAL (RELXANL/NAL A
CHel: FOIBOIAIA A (el @2)
SN EHD B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
OJls 2&el oot Ang &
150,000, 000& * 1Al 150,000
O=ds RRFLFRER2 € B2 DAHSA
20,000,000 =14 20,000
O&D| it s2Z &2 AL
50,000,000 =14 50,000
OEdll 522 DEEXN B4
20,000,000 =14 20,000
O4A2 SZBAE 212 X222
100,000, 000& * 1A 100,000
OFZ oAl (BEA) OISHZ2=2 41X
300,000,000& » 1Al 300,000
03 AlE 201 Y| 5,130 2,421 2,709
OAAR FOU=SJAAIE AEL0HI
5,130,000& » 14! 5,130
AR FOUSJAAIL<E > 1,693,042 1,610,000 83,042
= 765,000
Al 928,042
401 AIEHIZL 201 Y| 1,693,042 1,610,000 83,042
= 765,000
Al 928,042
01 Al&H| 1,690,000 1,610,000 80,000
OdlZ =422 022t A2 EZEH S A
60,000,000 =14 60,000
= 30,000
Al 30,000
O=Z YEAH(A0HE) WEFINH 2 A
160,000, 000& * 1A 160,000
= 80,000
Al 80,000
OEdll =212l 0tsdd=z S I E DA
400,000,000& * 1Al 400,000
= 120,000
Al 280,000
Odsts AstdE HH| ZAH(LSAHG)
100,000, 000& * 1A 100,000
== 50,000
Al 50,000
OdlZ sel NE JHlIZ2AF 200,000,000 x 14! 200,000
o= 100,000
Al 100,000
o9 =ctee| DSt ZE B A
100,000, 000 1Al 100,000
o= 50,000
Al 50,000
Odd R s SELEZA
50,000, 000& 14! 50,000
o= 25,000
Al 25,000




A R =y
2 NSMNLAS(2ELNGMNLE/NISL A
Sl EOIMOIAIL AN (B9 ®R)
= d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OYSls 99278 @ 2A=HSA
150,000, 000& * 14! 150,000
= 75,000
Al 75,000
ORE¥s s & 01HEZ ATAILE &X
200,000,000 =14l 200,000
< 100,000
Al 100,000
ORHYS SEFZ-ZYHADE 0HA2 ANL
Il 70,000,000& =14 70,000
< 35,000
Al 35,000
OSWS AR fIE X2 EHl
200,000,000 =14l 200,000
< 100,000
Al 100,000
03 Al S THHI 3,042 0 3,042
ORI FRU=SJAAY AU
1,690,000,000& *0.36/100«50%<& 2> 3,042
SSHUESE AEAY 357,760 97,760 260,000
201 ¢et24] 4,520 4,520 0
01 At 22l 4,520 4,520 0
O1.get==2Hl 2,000
-S3A== AE eS| 2,000,000 2,000
O5.2&Hl 2,520
~ZTASS AY ALFH ANAA22R 3
Al 7,000 «3Hx102 «12& 2,520
202 04l 2,700 2,700 0
01 = LH o4 1l 2,700 2,700 0
OAETTHELE 3l &40t
60,0003 *3H 3 53] 2,700
305 HHal= s 300,000 0 300,000
01 Hia=E 300,000 0 300,000
OBMSa AHBANH BRAS
300,000,000 =14 300,000
401 Al HIZ 201 I 50,540 50,540 0
01 A& HI 50,000 50,000 0
OZTASE 44 (U2 BUSSY 4)42)
50,000,000 =14l 50,000
03 Al SR THHI 540 540 0
OZBASE 44 ANL2GH
50,000,000& *1.08/100 540
FOHEAAIE AHAS 7,220 7,220 0
201 £B-2dH| 4,520 4,520 0




2N A&
Mz XGNLANS(2ELXINL /XL Al
CHel: FOIBOIAIA A (el @2)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
01 AFR2 22l Yl 4,520 4,520 0
O1.dBtx=2H| 2,000
-FAUEHAANLE HEY Lt=3Hl 2,000,000 2,000
Ob5.= &t 2,520
~FOIEHAAIE HE LSRFEX AIAJAZ R
=g 7,000& x3Hx10 x12& 2,520
202 04| 2,700 2,700 0
01 2LHOHI 2,700 2,700 0
OFUEHAAL HE SR2FE Y|
60,0003 *3YH 3 x53] 2,700
BHSYAY (AL D) (IIEH/IIE) 192,921 247,487 54,566
ol 23| 94,537 141,009 N46,472
AFold2AY| 70,878 63,797 7,081
101 @121l 70,878 63,797 7,081
02 JIEt®& 2% 70,878 63,797 7,081
OFJAZ = 70,878
-2 3,675,500& x 15 x12& 44,106
-d324 44,106,000& 12 «1/12 3,676
-2 JFAEZ(25E 0] &)
130,000& *1H x12& 1,560
-AZ2t 2R 10,5063 x 15 *»45A| 2+ = 12& 5,674
-522E 84,4513 x1H «119 x1/2 5,025
-bE=4Y 720
b < Xt 40,000 1 x12& 480
JIEE 20,000& *x1H x 128 240
-EZ 2 X8 (304 0]4H) 155,000& x 15« 12& 1,860
-l syl 50,000& *1H x12& 600
-8 M=z Al 130,000& x1H x12& 1,560
-H&SIHy| 44,106,000 *1/12%60%*23] 4,411
-2 A H| 44,106,000 *86%=*16/360 1,686
Mg A 23,659 77,212 N 53,553
101 @1 21| 23,659 77,212 AN 53,553
03 RIAHAEZZXE = 23,659 77,212 A 53,553
O#HIZ XY 23,659
=23 1,013,300& x1H »12& 12,160
&0 2 1,013,300& 1 *400% 4,054
-d32s4 1,013,300& *1H x5%*23| 102
-¥ &30yl 1,013,300 x 1 *120% 1,216
PN, 51,470& 18 %15 773
~H A ZAH| 130,000& x1H = 12& 1,560
-2 EIHA =2 30,000& x1H x12& 360
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